O

1
=

o

2ty = -3x+ 3 & A Z=

2 Qujikd Z71ekel

@ -3 @ -9

® -6

x o] gtol 3

@ 6

gk

=
=]

=
[€)

et

o, y ¢

[SCAR )



=

oo

Z DTt DA A 4x + 2y — 20 = 0 T 2 Z2?

® y=2x+10 @ y=-2x+10 ® y=2x-10

1
@ y=-2x-10 @y:§x+10



3. AW axt2y-3=02° 2L 7277t 2 W), a ] S
Fotofet.

© -4 @—g ® 1 @

N w






stofzt.

23

ot o] W, a 9 gk



S
=
ol
~
Njo
ma
=
10
ol
b
o

=
J
H)

Gy
1
o
Ml
~:

3

TG

> nm
¢
o ™
w~ o
o RE

Fed=t.

S

o x WS T

o] =



=
et x B 5O G20 LolE yom B W, x, y Abo] o] TAAR

a 9| #2?



® @ x 9] gol F745Ha y 9 go] F7Fek ARl e,
@ ©2 x 9 ol F7ktH y 9 glo] Fashe AAFS

® A} V3 gt AL el

® G Oxthx Zof 7M.

® ©2 @rtty ol 7Hat,



9.

QRG-S y = 3x+k ] TALA A (<2, 1) A,

Fotofet.

D
=%






